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E = »i9% [Auuui wa adl Rensdlaii- o
S = [Astid [Axudl wy gdl [Qenslaiql s
aél () = 100, n(E) = 15, nM) =12, n(S) = 8
HENnM) =6 n(Mn 8) =7.

gl vzl

n(E) = 15

na+b+e+f=15 . i)
nM) = 12

Zh+c+e+d=12 ... (ii)
dgl n(S) = 8

Ld+e+f+rg=8 ... (iii)



nE M) =6

wél, hb+e=6 .. (iv)
M8 =7

wie+d=7 .. V)
“nEnN S =4

e+ f=4 L (vi)
HENnMnNS =4

ne=4 . (vii)

2w wReuH (vi) 24 (vii) Gsaql f= 0 w4,
yReud (v) =1 (vii) uxell d = 3 wd.
wA (iv) dA (vii) Gsadl b = 2 W,
¢d d, e wA f -l Yl (iii) 1l 4sdi,
3+4+0+g=28
Lg=1
azl b, e A d AL Hedl (i) Ml sl
2+c+4+3=12
nc=12-9
Lc=3
2dMl b, e dul el Yedl (i) Hi sl
ca+2+4+0=15
a=15-6
a=9
el
1) sl »isl® 24 A [QuaHl wa ad vel [Asid [@uadl wa 4 ddl el v b = 2.
(i) "zt oUBla 24 [AsiA RuuEi W 242 s 2209 [@Quasi wa 4 adl Qe dva 4 = 3.
({ii) "ot alad [Avast way adr [Renell=idl dvan
¢ =3
(iv) s sl ay [Amasmi wa adn [Renefaidl dqva
=b+e+d+f
=2+4+3+0
=9
(i) 55 (39 A B [AMuml w2 @eelal ye @si @uaHi w2 adl @erelaid e
=n{ENMnS)
=n{E m M) - n(E n MS)
{(“AnB =A-AnB)
=64
=2
(i) 55 2Bd 4 QAL wa sz [@epsllAi uey 2igiepnl w4 adl Qe dea
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(i) Sear ol eRARWL A ol vidle s & ? Vi

(i) Sea1 530l wRIRWL A, B 1 CUs] Asuwr vidle sl il
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